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Question 16

Marks
Question 16 (continued)

(a) Outline TWO changes that could be made to the experimental procedure that 2
would improve its accuracy.
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(b) Compare Kim’s and Ali’s methods of calculating g and identify the better 3
approach.

Kims Toy . acommhrg Fir ol Ke vwebc&t’_,h?m'iomwo"“\& hot zher

A": D oon K Q’Kd_ AOV\CL C"W« %Fw) LC(. ,;r\e dq—&,&}— Gégft‘e cen I\O'L mo‘vde

e oy s M e oh beok BEL Thes Al
Q()PJ’U‘E«CA ~ et acworle Mhen  Krms
(c) Calculate the value of g from the line of best fit on Ali’s graph. 3
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End of Question 16
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